Applications of a Subordination Theorem

SHIGEYOSHI OWA

Department of Mathematics, Kinki University, Higashi-Osaka, Osaka 577, Japan

AND

Mamoru Nunokawa

Department of Mathematics, University of Gunma, Aramaki, Maebashi, Gunma 371, Japan

Submitted by William F. Ames

Received September 3, 1993

The object of the present paper is to give applications of a subordination theorem due to Hallenbeck and Ruscheweyh [Proc. Amer. Math. Soc. 52 (1975), Theorem 1]. Our results have some interesting corollaries and examples as special cases. © 1994 Academic Press, Inc.

1. Introduction

Let A(n) denote the class of functions of the form

$$f(z) = z + \sum_{k=n+1}^{\infty} a_k z^k \qquad (n \in N = \{1, 2, 3, ...\})$$
 (1.1)

which are analytic in the open unit disk $U = \{z: |z| < 1\}$. For analytic functions g(z) and h(z) with g(0) = h(0), g(z) is said to be subordinate to h(z) if there exists an analytic function w(z) so that w(0) = 0, |w(z)| < 1 $(z \in U)$ and g(z) = h(w(z)). We denote this subordination by

$$g(z) \propto h(z)$$
. (1.2)

219

0022-247X/94 \$6.00

Copyright © 1994 by Academic Press, Inc. All rights of reproduction in any form reserved.

If h(z) is univalent in U, then the subordination (1.2) is equivalent to g(0) = h(0) and $g(U) \subset h(U)$ (cf. Duren [1]).

With this subordination, Hallenbeck and Ruscheweyh [2] have shown

LEMMA 1. Let F(z) be convex univalent in U, F(0) = 1. Let f(z) be analytic in U, f(0) = 1, $f'(0) = \cdots = f^{(n-1)}(0) = 0$, and let $f(z) \propto F(z)$ in U. Then for all $\gamma \neq 0$, $\text{Re}(\gamma) \geq 0$,

$$\gamma z^{-\gamma} \int_0^z t^{\gamma-1} f(t) \ dt \propto \gamma z^{-\gamma/n} \int_0^{z^{1/n}} t^{\gamma-1} F(t^n) \ dt.$$
 (1.3)

In this paper, we give some interesting results, applying the above lemma by Hallenbeck and Ruscheweyh [2].

2. Applications of a Subordination Theorem

An application of Lemma 1 leads us to

THEOREM 1. Let p(z) be analytic in U with p(0) = 1, $p'(0) = \cdots = p^{(n-1)}(0) = 0$. If

$$\operatorname{Re}\{p(z) + \alpha z p'(z)\} > \beta \qquad (z \in U), \tag{2.1}$$

then

$$\operatorname{Re}\{p(z)\} > \beta + (1 - \beta) \left\{ 2 \int_0^1 \frac{1}{1 + \rho^{n \operatorname{Re}(\alpha)}} d\rho - 1 \right\} \qquad (z \in U), \quad (2.2)$$

where $\alpha \neq 0$, Re(α) ≥ 0 , and $\beta < 1$.

Proof. Letting

$$F(z) = \beta + (1 - \beta) \frac{1 - z}{1 + z}$$
 (2.3)

and

$$f(z) = p(z) + \alpha z p'(z) \tag{2.4}$$

in Lemma 1, we see that F(z) is convex univalent in U, F(0) = 1, and that f(z) is analytic in U, f(0) = 1, $f'(0) = \cdots = f^{(n-1)}(0) = 0$. Note that

$$p(z) = \frac{1}{\alpha} z^{-1/\alpha} \int_0^z t^{1/\alpha - 1} f(t) dt.$$
 (2.5)

Therefore, using Lemma 1, we have that if $f(z) \propto F(z)$, then

$$p(z) \propto \frac{1}{\alpha} z^{-1/\alpha n} \int_0^{z^{1/n}} t^{1/\alpha - 1} F(t^n) dt.$$
 (2.6)

Since

$$\frac{1}{\alpha} z^{-1/\alpha n} \int_{0}^{z^{1/n}} t^{1/\alpha - 1} F(t^{n}) dt
= \frac{1}{\alpha} z^{-1/\alpha n} \int_{0}^{z^{1/n}} t^{1/\alpha - 1} \left(\beta + (1 - \beta) \frac{1 - t^{n}}{1 + t^{n}} \right) dt
= \frac{2\beta - 1}{\alpha} z^{-1/\alpha n} \int_{0}^{z^{1/n}} t^{1/\alpha - 1} dt + \frac{2(1 - \beta)}{\alpha} z^{-1/\alpha n} \int_{0}^{z^{1/n}} \frac{t^{1/\alpha - 1}}{1 + t^{n}} dt \quad (2.7)
= 2\beta - 1 + \frac{2(1 - \beta)}{\alpha} \int_{0}^{1} \frac{u^{1/\alpha - 1}}{1 + zu^{n}} du
= 2\beta - 1 + 2(1 - \beta) \int_{0}^{1} \frac{1}{1 + zu^{\alpha n}} d\rho,$$

we conclude that

$$p(z) \propto q(z) = 2\beta - 1 + 2(1 - \beta) \int_0^1 \frac{1}{1 + z\rho^{\alpha n}} d\rho.$$
 (2.8)

This implies that if p(z) satisfies the inequality (2.1), then

$$\operatorname{Re}\{p(U)\} > \operatorname{Re}\{q(U)\}. \tag{2.9}$$

Now, it is easy to see that

$$\operatorname{Re}\{q(z)\} = \operatorname{Re}\left\{2\beta - 1 + 2(1 - \beta) \int_{0}^{1} \frac{1}{1 + z\rho^{\alpha n}} d\rho\right\}$$

$$= \beta + (1 - \beta) \left\{2 \int_{0}^{1} \operatorname{Re}\left(\frac{1}{1 + z\rho^{\alpha n}}\right) d\rho - 1\right\}$$

$$\geq \beta + (1 - \beta) \left\{2 \int_{0}^{1} \frac{1}{1 + |\rho^{\alpha n}|} d\rho - 1\right\}$$

$$= \beta + (1 - \beta) \left\{2 \int_{0}^{1} \frac{1}{1 + \rho^{n\operatorname{Re}(\alpha)}} d\rho - 1\right\}.$$
(2.10)

This completes the assertion of Theorem 1.

Letting $Re(\alpha) = 1/n$ in Theorem 1, we have

COROLLARY 1. Let p(z) be analytic in U with p(0) = 1, $p'(0) = \cdots = p^{(n-1)}(0) = 0$. If

$$\operatorname{Re}\{p(z) + \alpha z p'(z)\} > \beta \qquad (z \in U), \tag{2.11}$$

then

$$Re\{p(z)\} > 2\beta - 1 + 2(1 - \beta)\log 2$$
 $(z \in U)$, (2.12)

where $Re(\alpha) = 1/n$ and $\beta < 1$.

Making p(z) = f'(z) for $f(z) \in A(n)$ in Theorem 1, we have

EXAMPLE 1. If $f(z) \in A(n)$ satisfies

$$\operatorname{Re}\{f'(z) + \alpha z f''(z)\} > \beta \qquad (z \in U). \tag{2.13}$$

then

$$\operatorname{Re}\{f'(z)\} > \beta + (1 - \beta) \left\{ 2 \int_0^1 \frac{1}{1 + \rho^{n\operatorname{Re}(\alpha)}} \, d\rho - 1 \right\} \qquad (z \in U), \quad (2.14)$$

where $\alpha \neq 0$, Re(α) ≥ 0 , and $\beta < 1$.

Further, taking p(z) = f(z)/z for $f(z) \in A(n)$ in Theorem 1, we have

Example 2. If $f(z) \in A(n)$ satisfies

Re
$$\left\{ (1-\alpha)\frac{f(z)}{z} + \alpha f'(z) \right\} > \beta \qquad (z \in U),$$
 (2.15)

then

Re
$$\left\{ \frac{f(z)}{z} \right\} > \beta + (1 - \beta) \left\{ 2 \int_0^1 \frac{1}{1 + \rho^{n \operatorname{Re}(\alpha)}} d\rho - 1 \right\}$$
 $(z \in U), (2.16)$

where $\alpha \neq 0$, Re(α) ≥ 0 , and $\beta < 1$.

Next, we derive

THEOREM 2. Let p(z) be analytic in U with p(0) = 1, $p'(0) = \cdots = p^{(n-1)}(0) = 0$. If

$$\operatorname{Re}\{p(z) + \alpha z p'(z)\} > \beta \qquad (z \in U), \tag{2.17}$$

then

$$\left|\arg(p(z)-\beta)\right| \leq \max_{z\in U} \left|\arg\left(2\int_0^1 \frac{1}{1+z\rho^{\alpha n}}d\rho-1\right)\right| \qquad (z\in U),$$
(2.18)

where $\alpha \neq 0$, Re(α) ≥ 0 , and $\beta < 1$.

Proof. In view of Theorem 1, we see that (2.8) implies

$$\frac{p(z) - \beta}{1 - \beta} \propto 2 \int_0^1 \frac{1}{1 + z\rho^{\alpha n}} d\rho - 1.$$
 (2.19)

It follows from (2.19) that

$$\left|\arg\left(\frac{p(z)-\beta}{1-\beta}\right)\right| \leq \max_{z\in U} \left|\arg\left(2\int_0^1 \frac{1}{1+z\rho^{\alpha n}}d\rho-1\right)\right| \quad (z\in U),$$

which is equivalent to (2.18).

Letting $Re(\alpha) = 1/n$ in Theorem 2, we have

COROLLARY 2. Let p(z) be analytic in U with p(0) = 1, $p'(0) = \cdots = p^{(n-1)}(0) = 0$. If

$$\operatorname{Re}\{p(z) + \alpha z p'(z)\} > \beta \qquad (z \in U), \tag{2.20}$$

then

$$\left|\arg(p(z)-\beta)\right|<\frac{\pi}{2}\qquad(z\in U),\tag{2.21}$$

where $Re(\alpha) = 1/n$ and $\beta > 1$.

Proof. Note that

$$\operatorname{Re}\left\{\int_{0}^{1} \frac{1}{1+z\rho^{\alpha n}} d\rho\right\} \ge \operatorname{Re}\left\{\int_{0}^{1} \frac{1}{1+z\rho} d\rho\right\}$$

$$> \int_{0}^{1} \frac{1}{1+\rho} d\rho \qquad (2.22)$$

$$= \log 2$$

for $Re(\alpha) = 1/n$, so that

Re
$$\left\{2\int_0^1 \frac{1}{1+z\rho^{\alpha n}} d\rho - 1\right\} > 2\log 2 - 1 > 0 \quad (z \in U).$$
 (2.23)

This implies that

$$\left|\arg\left(2\int_0^1\frac{1}{1+z\rho^{\alpha n}}d\rho-1\right)\right|<\frac{\pi}{2}\qquad(z\in U). \tag{2.24}$$

Taking p(z) = f'(z) for $f(z) \in A(n)$ in Corollary 2, we have

EXAMPLE 3. If $f(z) \in A(n)$ satisfies

$$\operatorname{Re}\{f'(z) + \alpha z f''(z)\} > \beta \qquad (z \in U), \tag{2.25}$$

then

$$|\arg(f'(z) - \beta)| < \frac{\pi}{2} \qquad (z \in U), \tag{2.26}$$

where $Re(\alpha) = 1/n$ and $\beta < 1$.

Further, letting p(z) = f(z)/z for $f(z) \in A(n)$ in Corollary 2, we have Example 4. If $f(z) \in A(n)$ satisfies

$$\operatorname{Re}\left\{(1-\alpha)\frac{f(z)}{z}+\alpha f'(z)\right\}>\beta \qquad (z\in U), \tag{2.27}$$

then

$$\left|\arg\left(\frac{f(z)}{z}-\beta\right)\right|<\frac{\pi}{2}\qquad(z\in U),$$
 (2.28)

where $Re(\alpha) = 1/n$ and $\beta < 1$.

Finally, we derive

THEOREM 3. Let p(z) be analytic in U with p(0) = 1, $p'(0) = \cdots = p^{(n-1)}(0) = 0$. If

$$\operatorname{Re}\{p(z) + \alpha z p'(z)\} < \beta \qquad (z \in U), \tag{2.29}$$

then

$$\operatorname{Re}\{p(z)\} < \beta + (1-\beta) \left\{ 2 \int_0^1 \frac{1}{1+\rho^{n\operatorname{Re}(\alpha)}} d\rho - 1 \right\} \quad (z \in U), \quad (2.30)$$

where $\alpha \neq 0$, $Re(\alpha) \geq 0$, and $\beta > 1$.

Proof. Note that the condition (2.29) is equivalent to

$$p(z) + \alpha z p'(z) \propto \beta + (1 - \beta) \frac{1 - z}{1 + z}$$
 (2.31)

Therefore, proving the same way as in the proof of Theorem 1, we have (2.30).

Making $Re(\alpha) = 1/n$ in Theorem 3, we have

COROLLARY 3. Let p(z) be analytic in U with p(0) = 1, $p'(0) = \cdots = p^{(n-1)}(0) = 0$. If

$$\operatorname{Re}\{p(z) + \alpha z p'(z)\} < \beta \qquad (z \in U), \tag{2.32}$$

then

$$Re\{p(z)\} < 2\beta - 1 + 2(1 - \beta) \log 2$$
 $(z \in U)$, (2.33)

where $Re(\alpha) = 1/n$ and $\beta > 1$.

If we put p(z) = f'(z) for $f(z) \in A(n)$ in Theorem 3, then we have

EXAMPLE 5. If $f(z) \in A(n)$ satisfies

$$\operatorname{Re}\{f'(z) + \alpha z f''(z)\} < \beta \qquad (z \in U), \tag{2.34}$$

then

$$\operatorname{Re}\{f'(z)\} < \beta + (1-\beta) \left\{ 2 \int_0^1 \frac{1}{1+\rho^{n\operatorname{Re}(\alpha)}} d\rho - 1 \right\} \quad (z \in U), \quad (2.35)$$

where $\alpha \neq 0$, Re(α) ≥ 0 , and $\beta > 1$.

Letting p(z) = f(z)/z for $f(z) \in A(n)$ in Theorem 3, we have

Example 6. If $f(z) \in A(n)$ satisfies

$$\operatorname{Re}\left\{(1-\alpha)\frac{f(z)}{z}+\alpha f'(z)\right\}<\beta \qquad (z\in U), \tag{2.36}$$

then

Re
$$\left\{ \frac{f(z)}{z} \right\} < \beta + (1 - \beta) \left\{ 2 \int_0^1 \frac{1}{1 + \rho^{n \operatorname{Re}(\alpha)}} d\rho - 1 \right\}$$
 $(z \in U), (2.37)$

where $\alpha \neq 0$, $Re(\alpha) \geq 0$, and $\beta > 1$.

ACKNOWLEDGMENT

This work of the authors was supported, in part, by the Japaneses Ministry of Education, Science and Culture under a grant-in-aid for general scientific research.

REFERENCES

- 1. P. L. DUREN, "Univalent Functions," Grundlehren der Mathematischen Wissenchaften 259, Springer-Verlag, New York/Berlin/Heidelberg/Tokyo, 1983.
- 2. D. J. HALLENBECK AND ST. RUSCHEWEYH, Subordination by convex functions, *Proc. Amer. Math. Soc.* **52** (1975), 191-195.